Standard Specification Sheet Model: RC3900 AREX-39
Signal Conditioner Mounting Chassis

OVERVIEW SPECIFICATIONS

COMMON

No. of Bl 16 ccoeceececceccnceecencenceccansnnes 16
Installation Bl 8 cccvcccevecceccctatcccanaccnnccnans 08
(Specify at
@ when
ordering)
Mounting B DIN Rail-mounting-------rresrrerrerc- D
H R

Method [ | Wall*mounting .......................

(Specify at
when
ordering)
External M3.5 screw terminals and D-subminiature
Connection connector
(See table below.)
. . . . . POWer . 100»\/240\/ AC ..................... AU
The RC3900 is specially designed chassis to contain Requirement | Bl 24V DCeeevvreeeeeommmeeeiiiieeen.. D1
MS3900 series signal conditioners. (Specify at
Wiring for input and output can be made to this o d;?negg
chassis. The excitation power for every input/output
S?VIC-E 1sdsupphe(i1 en bl;)lc toh hthe c};lass;ls tod k?e MATERIAL
1stri ute. to each one through the mother—board in Case SPCC
the chassis. PC Board | Glass Fabric Epoxy Resin

Screw Steel/nickel plating

ORDERING INFORMATION e |

Block
Ordering Code
Chassis for input modules
RC3900—0 0 —1 —0 0 —Al External Connection

©Chassis for input modules
Chassis for output module (MS3954) Igliilg Computer Side
RC3900—0 0 —0 —0 0 —A0 Output-1 Output—2 Output-1
M3.5 screw
M35 terminals M3.5 | D-subminiature
. screw connector,
STANDARD PRICE terminals | connected to | erminals | 37-pin femdle
connector.
Ordering Code Standard Price
©Chassis for output module

RC3900—16—1 —AU—1 O OPEN s Field Side
RC3900—08—1 —AU—0 O OPEN Computer Side Output Signal Output Signal
RC3900—16—1 —D1—O O OPEN D—=subminiature
RC3900—08—0 —D1—1 O OPEN male M3.5 screw M3.5 screw

(Also connected terminals terminals

to terminal block.)

IMITT Corporation 106107-00RC00390000-01.0410.DOC ~ Page: 1/3

106



NIk Standard Specification Sheet Model: RC3900 Signal Conditioner Mounting Chassis

RC3900-16-R-AU-AI

® R EEEEEEEEEEE LR B PR EEEEEERE EEE RN
2000000030000 0600 | 0000000000008

©

o o

o o o o o o

H
|

i

@]

H@@@@@@@@@@@@@@@@@#‘ eeccoeeee000000® |
[ee6e0e000000060000 0 6668800088808 880| @

480 OUTPUT-1 CN. ASSIGNMENT
1 + Chl - 20
2 + Ch2 - 21
3 + Ch3 - 22
EE= N R T
00000008088080000a4 | A AR AR AAANANAAAA — 6 Y Che - 25
A A O AR A = 7 +  chl__ - 26
= 8 + Ch8 - 27
E = 9 + Cho - | 28
[ T] i = 10 + Chl0 - 29
11 + Chil - 30
_l ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 12 + Chl2 - 31
13 + Chi3 - 32
14 + Chl4 - 33
15 + Chl5 - 34
16 + Chl6 - 35
17~19 N.C. 36, 37
Unit: mm

RC3900-08—-R-AU-AI

® [EEEEEEEEEEE R K
|266086600000866808309)

Q

| EEEIRASEEIREES

leecsee0eeREe00360 |

i
o

@ [028668239008088388888| @

_® =
A|B|A|B|A|B|A|B|A|B|A|B|A|B|A|B
{it 8, 3
c|pjc|pjc|D|c|D|c|D|C|D|C|D|C|D
265
285
305 OUTPUT-1 CN. ASSIGNMENT
1 + Cht - 20
2 + Ch2 - 21
3 + Ch3 - 22
4 + Cch4 - 23
5 + Ch5 - 24
§§§ 6 + Ché - 25
[aAaAAARANAAAAAAA] ‘ 7 + Ch7__ - 26
I R P R = 8 + Ch8 - 27
= 9~19 N.C. 28~37
97‘ P
| [ ]
Unit: mm
MTT Corporation 106107-00RC00390000-01 0410.DOC  Page: 2/3

107



RC3900-16-R-AU-AO

ER CEEEEEEEEEEEEEEE R CEEEEEE EEEEEEEEEEA

[600000603600080000)

| 2260000000000680030

©

r— |
| |
- |
o } f
e i | ;
§§ o o o | | [
o | 8 N
- BEE =
[eeeeo000000000000| [PEEOEEEEERERORO0S0 | |
[©e06cece000000680030 0 0000E0000000608888|8 | ¢ m

:gg INPUT CN. ASSIGNMENT
19 + Chi - 37
18 + Ch2 - 36
17 + Ch3 - 35
16 + Ch4 - 34
EEE] 15 + Chs - 33
14 + Ché - 32
‘ ﬂﬁﬂﬁﬁﬂﬁﬁﬁﬁﬁﬂﬂﬁﬁﬁ‘ QAAALALAAALRAARARA P 13 T Ch7 _ 31
0 O O P O O N = 12 + Ch8 — 30
== 11 + Ch9 - 29
“ = 10 + Chi0 - 28
=5 9 + Chii - 27
’7 T 8 + Ch12 - 26
777777777777777777777777777777777777777777777 7 + Chi3 - 25
6 + Chi4 - 24
5 + Chis5 - 23
4 + Chi6 - 22
~3 N.C. 21, 20
Unit: mm
RC3900-08-R-AU-AO
® lo0ce02300080006000 [0 |
o L2080E000008006009) -
38 I
!
& \
I I
i \
i \
® [6ee000000000006000 | }
® [665666600080866866|0 | g m
OUTPUT-1 CN. ASSIGNMENT
19 + Cht 37
18 + Ch2 36
17 + Ch3 35
16 + Ch4 34
15 + Chbs 33
=HeH 14 + _ Ché 32
000000000800000608 | 18 |+ Cht 81
= 12 +  Ch8 30
A N = Ti~1 NG. 29~20
0| >
Unit: mm
IMITT Corporation 108-00RC00390000-01 0410.00C  Page: 3/3

108



